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Properties of the Sampling Distribution of x
What is a Sampling Distribution?

mean= 8.08 Parent population (can be changed with the mouse)

median= 1.00

ad= 6.22

zkew= 0.83

urtozis= 0.06
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What do you notice?

- About the Shape?

- What happens as we increase the sample size?

| Clear lower 3 |
|_ Skewed v |

10,000 iterations later...
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Properties of the Sampling Distribution of x



Let’s do the same thing for the variances...

= 8.08 Parent populati be changed with the .
e i popolation (can be changed with he mouse) What do you notice?
ad= 6.22 _ p)
ckeowi i About the Shape:
kurtosis= 0.06 - What happens as we increase the sample size?

T
Rep= 10000 __ Dustribufion of Variances, N=3
mean= 30.87 1734
median= 24.00 1443
sd= 2237 tze
skew= 1.10 o
kurtosiz= 1.14 .
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Beps= 10000 Distribution of Vanances, N=16
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n =\ 2

Properties of Sampling Distribution of s2, s =
(sample variance)

n—1



Competency Assessment

* In a family of 3 children, what is the probability of 2 boys and 1 girl?



Binomial Distribution
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